CP131 AEEZEREGNED
ReHS IMAO

M A7 AT RE

| MPsRRE

(D min.B$)

.

H1(D min.Bf)
lw)
3
Q
x

D min.
OfER _
T

| L1 | H |
-

| L1 | H |

‘ gig

= =
?g “,?g
k0O HE O IR
SNCM439 SCM435 TR
S L= ghpE il ”
HRC33 — 39 MU L = SR (FKM)
, o D H
B = min. max. | Dmin.B | Dmax.hf il b L W
CP131-04001A| 8 10.3 55 46 09 | M4x07 -12L 7.3 25
CP131-05001A| 10 12.3 6.4 5.6 11 | M5X0.8 -15L 9.1 3
CP131-06001A| 12 16.3 8.6 7 13 | Mex1 -18L | 11.2 4
CP131-08001A| 16 22 11.5 9.4 1.6 | M8x1.25-25L | 16.2 5
CP131-04001B| 8 10.3 55 46 51 | M4x0.7 -12L 7.1 3
CP131-05001B| 10 123 6.4 5.6 6.2 | M5x0.8 -15L 9 4
CP131-06001B| 12 16.3 8.6 7 79 | Mex1 -18L | 106 5
CP131-08001B| 16 22 11.5 9.4 104 | M8X1.25-25L | 15.4 6
A = kEH | FFREHE | RE &R ORIR
(kN) (N-m) (g) AFRSH
CP131-04001A| 0.9 2.1 3 SS050(4121 M 5)
CP131-05001A| 15 43 5 SS070(%%1 MR 7)
CP131-06001A| 2.1 7.3 9 S 8 (%(715M7Z 75)
CP131-08001A| 4 18 22 S 12 (%1215 H11.5)
CP131-04001B 15 2.7 4 SS050(%1%21 M 5)
CP131-05001B 2.5 5.4 7 SS070(%%1 MR 7)
CP131-06001B| 5 9.1 11 S8 (BRISHE 7.5
CP131-08001B| 9 25 28 S 12 (%115 AR11.5)




it =
- AR E T 1.
 SRABUREE, BARETIF.
CITREX, WATHHIL. AAE.

(ROmBEB)
a0
OEIE THHIKFES T
® OWIETH EZFHEEN T
i A DI R R 75 3

“7

VZAR N\
0, o
N N

I B3 I B3

) R B S TR &Em . (OF)
RIBIHMRFNRE, ARSELH LS8R R, MEEBATaBETL.

J EEET
SRR AERE, RANEFTRER R R

It

SHIE IR
EFI2ANREEE R BHRE =




